
m
em

be
rs

hi
p 

pr
ob

ab
ili

ty

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

1 2 3



m
em

be
rs

hi
p 

pr
ob

ab
ili

ty

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

1 2 3



m
em

be
rs

hi
p 

pr
ob

ab
ili

ty

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

1 2 3



m
em

be
rs

hi
p 

pr
ob

ab
ili

ty

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

1 2 3



m
em

be
rs

hi
p 

pr
ob

ab
ili

ty

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

1 2 3



● ●

●
●

●

●

●

●

●

2 4 6 8

0
5

10
Value of BIC 

versus number of clusters

Number of clusters

B
IC



●

●
● ●

●
●

●
●

●
● ●

●
●

●
●

●

●

●

●

●

●

5 10 15 20

5
10

15
20

25
30

35
Value of BIC 

versus number of clusters

Number of clusters

B
IC



●
●

●

●
●

● ●

●

●

●

●

2 4 6 8 10

4
6

8
10

12
14

16
Value of BIC 

versus number of clusters

Number of clusters

B
IC



● ● ●
●

●
● ● ●

● ● ● ● ● ● ●
●

●

●

●

●

●

●

5 10 15 20

0
10

20
30

40
Value of BIC 

versus number of clusters

Number of clusters

B
IC



● ●
●

●

●

●
● ●

●

●

●

●

●

●

2 4 6 8 10 12 14

5
10

15
20

Value of BIC 
versus number of clusters

Number of clusters

B
IC



●
● ●

●
●

●

●

●

●

●

2 4 6 8 10

8
10

12
14

16
Value of BIC 

versus number of clusters

Number of clusters

B
IC



●
● ●

● ●
● ● ●

●

●

●

●

●

2 4 6 8 10 12

0
5

10
15

Value of BIC 
versus number of clusters

Number of clusters

B
IC



● ●
● ●

●

●

●

●

●

2 4 6 8

2
4

6
8

10
12

14
16

Value of BIC 
versus number of clusters

Number of clusters

B
IC



●

●

●

●

●

●

●

●

1 2 3 4 5 6 7 8

−
2

0
2

4
6

8
10

Value of BIC 
versus number of clusters

Number of clusters

B
IC



● ● ●
● ●

●

●

●

●

●

2 4 6 8 10

2
4

6
8

10
12

14
Value of BIC 

versus number of clusters

Number of clusters

B
IC



●

● ●
●

●
●

●
● ● ● ● ●

●

●

●

●

●

●

●

5 10 15

5
10

15
20

25
30

Value of BIC 
versus number of clusters

Number of clusters

B
IC



●
●

● ● ●
●

●

●

●

●

●

●

●

2 4 6 8 10 12

0
5

10
15

Value of BIC 
versus number of clusters

Number of clusters

B
IC



●
● ● ● ●

●

●

●

●

●

●

●

2 4 6 8 10 12

0
5

10
15

Value of BIC 
versus number of clusters

Number of clusters

B
IC



●
●

●

●
●

●

●

●
● ● ●

●

●

●

●

●

5 10 15

10
15

20
25

Value of BIC 
versus number of clusters

Number of clusters

B
IC



●

●

● ●
●

●

●

●

●

●

2 4 6 8 10

2
4

6
8

10
12

14
Value of BIC 

versus number of clusters

Number of clusters

B
IC



● ●
● ● ● ●

●

●

●

●

●

2 4 6 8 10

0
5

10
15

Value of BIC 
versus number of clusters

Number of clusters

B
IC



●
● ●

●
● ●

●

●

●

●

●

●

2 4 6 8 10 12

0
2

4
6

8
10

12
14

Value of BIC 
versus number of clusters

Number of clusters

B
IC


